Warbler Mating Data.

Using the data below make a plot of Pairing date vs. Repertoire size.  (Make sure you do not plot Repertoire size versus Pairing date.)  Label the axes and title your graph “Warbler Mating Data.”  Fit the data to a straight line. The equation of the line (slope and intercept) as well as some measure of how good the fit is should appear on your graph.  Bring your graph over from Excel and place it in this document.  Add the figure caption below. You should do more than simply place the text after the graph.  (Data from Biology (N.A. Campbell, The Benjamin/Cummings Publishing Company, Inc. 1996))

	Repertoire size
	Pairing date

	14
	45

	20
	47

	23
	43

	24
	34

	24
	37

	25
	30

	30
	27

	33
	24

	34
	30

	38
	27

	42
	24


	Paste graph here

	Female warblers prefer males with large song repertoires. Male sedge warblers in Europe with large repertoires attract females to pair with them earlier in the breeding season than males with small repertoires.  Since the first females who choose mates pick males with large repertoires, it is likely that females prefer large repertoires.  Males with large repertoires benefit from pairing early because breeding early tends to be more successful than breeding late in the season.  


Fit the data to one other function provided by Excel.  
Paste graph here
Which do you think fits better? Why?
Perform the calculations shown in The Linear Fit (Behind the Scenes) document on the Warbler data.  Submit both this Word document and the Excel spreadsheet. 
